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(b)

3. (a)

(b)

4. (a)

(®)

5. (a)

(b)

uﬂ_jTM\AN +,..ﬂw =1
2x; =Xy +2x3=-3
Xy +3x3 =1

Find a solution of f(x)= X —x-1=0 by

iteration. 4
Find the positive solution of
f(x)=x-2sin(x)=0 by the sccant method,
starting from x; =2,% =1.9. 4

Discuss the comparison and error estimation
between bisection and Newton-Raphson method. 4

Solve the following cquations using Gauss Seidel
method (perform only three iterations with initial
Guess as X, =0, yy =0, 2p=0) 4

27x+6y—z =54
26x+15y+2z="72
x+y-—54z=110

Under what conditions the Gauss Seidel method

converge. 4
UNIT - i
Deduce the final expression of trapezoidal rule for
numerical integration. 4
Given m&»nlv\ with ¥(0) = 1. Using step size
1
h=0.01. Find y(0.01) and y(0.02) by Euler
method. 4
(2)

6. (a)

(b)

7. (a)

(b)

8. (a)

(b)

Al

Apply the Runge-Kuttta method of second o

to solve Mknx+v\ with 3(0) = 0 by using
3

size h = 0.2 to compute five values of y.

Give geometrical interpretation of Runge-Ki
forth order method.

Using Newton backward difference formu
compute f (4. 5) from the following set of data -

[ e |
x | Jx)
1 14
2 27
3 40
4 55
5 la

Describe the brief about the Gauss quadratung
formulas.
L, 2
Evaluate [ = .T;x dx using the Simson's 1/3 rul¢
0
with 2m =6 and estimate the error. A

1 @)

Ivaluate /[ = .T " dx using the Trapezoidal rule
0

with n = 6 and estimate the crror. 4




